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Economics and Social Statistics Workshop, 1/10/07



Pete Bohmer,  PESM

I. Economic and Social Statistics

     A. THE UNEMPLOYMENT RATE


After Gross Domestic Product (GDP), the unemployment rate is the most common used 
indicator of national economic performance. The definition of full unemployment has been                      adjusted upwards from about 3% in 1950's to 5-6% today by mainstream economists, often called              the Non-accelerating Inflation Rate of Unemployment (NAIRU). I call it the profit maximizing                rate of  unemployment. 

             Full employment—everyone who wants a job can find one, unemployment rate fell to 1% in                       1944,  


1.  Definition of unemployment rate--The unemployment rate (UR) is the per cent of the nation's                      labor force,16 and over that is out of work and looking for a job. 

                     

               __ Unemployed persons times_100_________

   Unemployment rate =   (Employed+ Unemployed persons) =  Labor Force

Unemployment rate is published monthly by Bureau of Labor Statistics, www.bls.gov/news.release/empsit.nr0.htm
Following data is for December, 2006

              the civilian labor force (over 16) was 152.7 million 


 the number of employed was 145.9 million

             the number of officially unemployed was  6.8 million

Unemployment rate = [(6.8)/(145.9+ 6.8)] X 100 = 4.5%

  
Unemployed persons are those who wanted to work but didn't, looked for a job at least once in the previous four weeks and specified a job search. Employed persons are paid employees of at least one-hour per week, self-employed, or unpaid jobs in a family business of at least 15 hours a week.  


The labor force and the components of it are calculated from a monthly sample of about 60,000 households. The labor force = employed + unemployed. 


Note that people who are not actively looking for work are considered outside of the labor force, neither employed or unemployed. (77.3 million for December 2006) The official unemployment rate for December , 2006  for African-Americans was 8.4 %; for teenagers, 15.2%; for Latinos 4.9%; for whites, 4.0%; for adult men (20 and above), 4.5%; and for adult women, 4.0%;  

          Source: www.bls.gov.news.release/empsit.nr0.htm and Economic Report of the President, 2005

Population over 16 = employed + unemployed + those not in labor force=145.9 + 6.8 + 77.3=230.0 million

Employment/Population ratio (over 16 years old) =145.9/230.0 million = .634= 63.4%

Labor Force Participation Rate = Labor Force/Population (over16) =152.7/230= .664 = 66.4%

2. Limitations of official definition of unemployment


   a. Involuntary Part-Time workers, 4.2 million in December, 2006 (partially unemployed) 


   b. Discouraged and other workers who wanted a job but didn’t look for one, 4.1million, 12/06


   c. Others out of the labor force whose definition reduce unemployment

                    A. Disabled—growth in those receiving disability payments, 3.8 million in 1983, 7.7 million                              in 2000 (important in comparing past and present unemployment rates) 

                    B. Prison population—2.2 million in  2005

               d. Underemployment—how defined besides people who work part-time and work full-time

                e. Note: those on unemployment insurance are only about 35% of the unemployed, pp.263                            Economic Report of the President, 2005 


3. The concept of full-employment and how to attain it.

             4. Costs of unemployment—

             5. Trends, decline in employment to population ratio from mid 1990’s to present

   B.  The Poverty Rate


 It is a % rate measuring the extent of official poverty each year. It is used to determine eligibility for a variety of programs including public housing and various public assistance programs.



 1. Definition, government determined, rises with the Consumer Price Index (CPI), see below  

                    for 2005,  $10,000 for an individual; 

                                    $13,000 for a family of 2, (one child) 

                                    $16,000 for a family of 3

                                    $20,000 for a family of 4

                                    $23,000for a family of 5

                                    $26,000 for a family of 6 (rises about $3000 per additional member of family)

Note: the actual amount for families of two or more depends on the number of children and adults. My 

numbers are an average of the numbers for one and two adults, the differences are small.

Includes cash transfers--earned income tax credit, social security, welfare but not non-cash transfers.

Table 2. Poverty Rates (using official definitions)


           2005 Number of Individuals Below Official Poverty Level      

                       Number (000s)  Per Cent      
All 
             36, 950         12.6%         

Non-latino white 16,200            8.3          

Black                    9,200          24.9       

Asian-                  1,402           11.1       

Pacific Island

Latino/a                9,122         22.5        

Native-American     827         32%                                                 

Source: http://www.census.gov/prod/2005pubs/p60-231; Indian Health Service  

Female householder, (no husband)  (2004)             30.0% 

                      Children   under 18 (all)                  17.6% 

                                        white (non-Latino)           9.8%

                                        Latina/o                          29.7%

                                         Black                             33.6%     

                                        Asian                              12.7%

                                     Native-American              approximately 40%

2. Debates over definitions of poverty                             


    a. Conservatives often argue that the calculation of poverty overestimates the number in                                   poverty.


        (Non-cash transfers, overestimate of growth of inflation)


                 b. Progressives (Many liberals and left) argue it underestimates poverty


    c. Poverty as relative or absolute, e.g., 1/2 of average or median income


                 d. New estimates of poverty that consider value of non-cash benefits

No matter what the measure of poverty is, all measure has shown substantial increase from  the mid  1970's to early 1990’s, decline from 1995 to 2000 and small increases since. 

C. Consumer Price Index (CPI); Change in CPI = inflation 

     1. Most common measure of inflation, 

            2005 = 195.3 

            2006 (Approximate) =201.7  (1982-1984 =100)

                 % change in CPI =   (201.7-195.3.0/195.3 =6.4/195.3 = .033=3.3% 

This says in general, prices increased about  100%, doubled  from 1982-1984 to present

              2. Why does it matter--Social Security, Cost of Living Adjustment COLA's, 

Growth in real income =  % growth in money  income - % growth in inflation rate (CPI)

Social security payments were adjusted 3.3% up for 2007. Washington’s minimum wage was increased slightly higher as they used slightly different months. In WA, minimum wage, $7.63 to $7.93 (3.9%)

No change in real terms 

     3. How is CPI measured-price changes in categories times estimate of their proportion in the budget:              food and beverages (16%);  housing (41%); apparel (4%); transportation (17%); medical care                    (6%);  recreation (6%); education and communication( 6%); other goods and services (4%)                       Weighted by  the proportion of household spending on these items in parenthesis during the                            years, 1993-1995

    4. Problems--quality of goods; for particular groups, weights and price changes may be very different

     5. Current debate around the CPI, attempts to reduce it., e.g., Alan Greenspan

D.  Measures of Output
     1.   GDP =Consumption +Gross Private Domestic Investment +Government (Consumption +Investment) Expenditures) + Net Exports ==11.7 trillion dollars, 2004 (Economic Report of the President (ERP) 2005, pp. 208) It is on-line

   Consumption =Durable Goods +Nondurable goods + Services =70% of GDP

  Gross Private Domestic Investment=Business Structures +Business Equipment + New Housing +Change in Inventories, =16% in 2004, very variable

   Government =Federal + State + Local (does not include transfers)

Net Exports =Exports- Imports= -609 billion, 2004 large growth in trade and deficit, (trade surplus before 1971)

GDP-Depreciation = NDP, see page 240 ERP. Depreciation is about 12% of GDP

NDP= Net Domestic Product

NDP should equal National Income (some statistical corrections)

GDP is measure of output, production of final goods, in dollars per year

GDP per capita = approximately $40,000 per year

National income per capita is about $35,000 per year

Sales of used goods are not part of GDP

Real GDP is GDP using base year prices, (2000), see page 210, ERP, 2005

note Change in real  GDP (%) = change in money GDP (%)- Change in price (%)

         Change in real GDP/capita = Change in real GDP – change in population (in per centages)

       If money GDP increases by 7% and prices by 3%, real GDP increases by 4%

        If population increases by 1%, real GDP per capita increases by 3%.  

     2. Human development Index (HDI)

          From UN Development Program (Amartya Sen  and Mahbub ul Haq, began 1990)

     Aggregates GDP/capita/ life expectancy at birth, and an education index consisting of 

    adult literacy and enrollment in education.

                                      Human Development Index (HDI) rating                        GDP/capita rating

                                     2003, 2004 

Norway                         1                                                                                           3

United States                10                                                                                          4

Costa Rica                    48                                                                                         64

Cuba                              52





             92

Mexico                          55                                                                                         60

Russian Federation      62
                                                                               59

Brazil                            69






 64

Venezuela                      75                                                                                         97

Saudi Arabia                 77





               44



see http://hdr.undp/org/reports/global
   3. Genuine Progress Indicator—see page 12, RW Macro

Adjusts consumption spending for unequal income distribution, balance of payments deficit, - social costs (underemployment, crime, commuting)- environmental costs + benefits (volunteer work, housework), = GPI, see www.refdefiningprogress.org
E. Distribution of Income 
       1. Measures all have problems; Can look at the distribution of household or family income, wealth; or earnings. I will look at household income distribution; wealth is far more unequal

          a. Median versus mean income,          2005, mean household income = $63,300 







     2005, median household income= $46,300

          Mean to median ratio ==1.46 grew from 1.16 in 1973; the higher the ratio of mean to median income, the greater the inequality.

Note: Households have lower average income than families as they include one person households.

For 2005, Median Income:   Non-Latino whites--$50, 800 

                                                             Blacks—   $30,900       

                                                             Latinos--- $36,000

                                                   Native Americans-$33,600

                                                  Asian-Americans---61,100   

Median income of Black to white= .61; Latino to white = .71  (for more data, see my notes from racial inequality lecture) 

    b. Comparing income at various cutoff points, 90th/50th, 50th/10th; growths in these ratios mean more              inequality;  compares incomes within various deciles, quintiles to each other. Larger ratio means               more inequality.  e.g., to compare income of top to bottom quintile, divide income share of top                  fifth  to lowest fifth: 50.4/3.4 = 14.8 in 2005; and 43.6/4.2 = 10.3 in 1973. This means income per             household of the top to the bottom quintile household went from an average of 10.3 times in 1973             to 14.8 times more by  2005. Why 1973? 

    c. Gini Ratio, Measure of Inequality-one is absolute inequality, 0 is absolute equality--most commonly            used measure. It can be demonstrated geometrically by a Lorenz Curve—see below.


To construct the Lorenz Curve, arrange income of group from lowest to highest; let us say there                are 5 people in this society with the following annual incomes, 

            Person: 1--$10,000, 2--$25,000; 3.--$50,000; 4-- $75,000; 5--$140,000


We then derive the proportion of the total income, $300,000 earned by cumulative quintiles (in                  this  example) proportions of the population. In this example,  the poorest 40% of the                               population, two   people earned $10,000 + $25,000 = $35,000/$300,000 = 12%, 

             the poorest 60% = $85,000/$300,000= 28% 

% of  total population,     % of  total income (cumulative)                    
    20%                             3%                                           

    40%                            12%

    60%         
  
  28%

    80%         (160/300)=   53%

   100%                           100%

Gini Ratio = A/(A+B) = A/1/2 = 2A approximately .40                      

Source: http://www.census.gov/prod/2006pubs/p60-231.pdf 





LORENZ CURVE
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II. Questions for Workshop: 

    1. Consider the following not so hypothetical economy, calculate the official unemployment rate, the real unemployment rate--what policies would you propose to change it?   (in Millions)--

Make any assumptions you wish consistent with the data presented. 

Population: 280;     Population over 16: 200;        Full-time employed: 120; 

Part-Time, 1 hour or more: 25;    Part-time who wish to work full-time: 5; 

Not working but actively looking for work, 9;     

Collecting unemployment insurance, 3.5;

Given up looking for work but would like to work, 1.5;   

Not working, would work if affordable childcare, 2: 

In prison 2;    

Working but earning less than $8.00/hr, 30.  Of these 30, 20 work full-time; of the 10 part-time,

2 of them would like to be working full-time. Note: these workers are part of the full-time and part-time employed mentioned above 

2. If your income is $400 a week in 2005, the inflation rate, (CPI) for 2006 is 3%, and you get a wage increase of 2%, what happens to your real wage in 2006? Now consider an alternative where your wage increase is 1%, but you also have a cost of living index (COLA) = to 80% of the price increase. What happens to your real wage in the second case? Do you support cost of living adjustments, partial adjustment, full adjustment, why or why not?

3. If the inflation rate for 2006 was 3.3%, will the poverty line change? What will it be for a family of 3?

Do you think the actual rate underestimates or overestimates the actual rate of poverty? Why?  Define poverty, absolute vs. relative. What would you estimate the poverty level is for a family of 3?

4. From 1990-2006, and from 1973-2006, by what per cent did prices rise? About what percentage per year did prices rise over these same years??  In 1990, the CPI was 130.7. In 1973 it was 44.4.  For which categories do you think prices rose more than average, in which ones less. Explain some of these different price behaviors.

5. Consider the following hypothetical data for 2007 and the actual data for 2005, 

Mean household income in 2007 = $70,200

Median household income in 2005 = $48,100
The quintiles in 2003 received the following % of total income. The 2005 data is hypothetical.

              1st quintile           2nd quintile                        3rd quintile    4th quintile    5th quintile    top 5%

               (poorest 20%)    (21st to 40th per centile)                                              top 20%  
2005(actual)     3.4%                  8.6%                        14.6%           23.0%             50.4          22.5%

2005                3%                      8%                            14%             22%              53%            24%       

   a. Using the  measures developed in part D, show that income distribution became more unequal

      in 2005 from 2003.

     Note: Do not actually calculate the Gini ratio but explain in which direction it has changed from 2003                to      2005. You may want to draw the Lorenz’s curves to show the change.

     Note: The Gini ratio was .469 in 2005. It has grown significantly since the late 1960’s when it was                     about .38-.39.  

  b. What do you think are the main factors in the growth of income inequality over the last 35 years?

   c. What are some proposals you would suggest to make the income distribution more equal? 

6. If GDP in current dollars increases by 4%, population increases by 2%, and prices increases by 3.5%,

what is the increase in real GDP?; what is the increase in per capita GDP in current dollars; what is the increase in real GDP per capita? 

b. Discuss some of the limitations of GDP/person or National Income per capita as a measure of economic well-being. What are limitations of making comparisons of per capita income over time within a country, or between countries at a point of time? Assume you correct for inflation. Can you suggest better measures?

7. From 1990 to 2006, by what per cent did average hourly and weekly earnings grow in the private sector, see  question 4  for data on price changes.

  1990 -$10.03/hr,    $346 per week

  2005  $17.04/hr     $577 per week  

  . What happened to real wages per hour? per week?  About how much did they grow per year? How does this compare to productivity growth?
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